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This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: M) @ @ (@ where (3)is the correctresponse.
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Sheet given inside the Booklet only. If you mark your
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Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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ANTHROPOLOGY
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The opposable thumb is a characteristic feature of the order :
(1) Chiroptera (2) Carnivora
(3) Rodentia (4) Primates

2.  Dental comb in Lemur and Loris is formed by :

(1) Forward projecting incisors and canines

(2) Projecting canines and premolars
(3)  Projecting canines and molars
(4) Projecting premolars and molars.
3.  Which one of the following is a Strepsirhine (primate that has a moist nose) ?
(1) Man (2) Chimpanzee (3) Rhesus monkey (4) Lemur

4.  Which of the following is associated with the theory of Natural Selection ?
(1) Use and disuse

(2) Inheritence of acquired characteristics
(3) Survival of the fittest
(4) Mutation

5.  Which statistical test of significance is used for comparing ABO blood group data of two
populations ?

(1) t-test (2) X2 test (3) Anova (4) F statistics
6. Sudden appearance of an ancestral character is known as :

(1) Pleiotropism (2) Freemartinism (3) Gene conversion (4) Atavism
7.  Who among the following is multilinear evolutionist ?

(I) Ruth Benedict (2) Levi Strauss (3)  Julian Steward (4) Mary Douglas

8. The concept of Modal Personality was given by which of the following :
Margaret Mead (2) Ruth Benedict (3) Sigmund Freud (4) Cora Du Bois
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9.  Who among the following propounded the “Theory of Need” ?

(1) G.P.Murdock (2) B.Malinowski (3) R.H.Lowie (4) Victor Turner
10. Which of the following is not a Particularly Vulnerable Tribal Group (earlier known as PTG) :

(1) Chenchu (2) Birhor (3) Jarawa (4) Santhal
11. World AIDS Day is celebrated on which of the following dates :

(1) 1 October (2) 1 November (3) 1 December (4) 1 January
12. The concept of ‘Survivals” was given by which of the following :

(I) A.L.Kroeber (2) Leslie A. White (3) Ralph Linton (4) E.B. Tylor
13. What metals are alloyed to produce bronze ?

(1) Copper and tin (2) Copper and lead

(3) Copper and aluminium (4) Copper and manganese
14. Which of the following cultures lies between Palaeolithic and Neolithic cultures ?

(1) Middle Palaeolithic (2) Mesolithic

(3) Middle Stone Age (4) Middle lithic
15. Which of the following statement is correct ?

(1) New Archaeology is the Archaeology of the New world

(2) New Archaeology is the Archaeology with New evidences

(3) New Archaeology is the Archaeology of the Neolithic period

(4) New Archaeology is Archaeology of New Archaeological sites
16. Which of the following scholars is responsible for New Archaeology ?

(I) Lewis Benford (2) Francois Bordes (3) H.D. Sankalia (4) D.L. Clarke
17. Criteria for a genetic screening program are :

Use the code given.

(a) High incidence in target population

(b) Low incidence in target population

(c) disease is treatable or preventable

(d) Non - invasive or the procedure easily carried out

Codes :

1) @ @and(d) 2 @ G)and(d) (3) () (and(d) @) (), (b)and ()
oors [ [N ; Fapert




9. =¥ 9 sreavasar & fggia’ =1 gfdues ®F g ?
(1) Std e (2) o dfadeskl (3)  SIRTE @l (4) faw TR

10. frefafed § @ 9 srRfaa s w98 (9 98 PTG & MW @ S ST o) =& 8 2
1) =g 2) fo=Rr (3) S (4) Heor@

11. fava ‘ved feaw’ i1 # 9 fhw aig &1 w9 S § 2

1) 1 TR (2) 1 7dR (3) 1 feHR (4) 15

12.  ‘SALSifaar’ (Hemsee®) it sadren e | § e geqa =t ot ?
(1) T BTN 2) WM =®/ES  (3) U foded (4) 3. ITFR

13. TR engeit = faemeRt i SAmEn o € 2

(1)  dfen iR feq (2)  dTeT SR Hh
(3) e iR wegfafw (4) dfen IR HES
14. Trafafaa & @ o9 9 Sepfa R SR T Gwpfa & o st qeh €2
(1) Tafea uferantatess 2) wHifafs
(@) fafea €F w (4) fafea fafas

15. frAfafed § @ &F @1 woF 98 T2
(1) 8 Qe -Tom T fored 1 g fomm
(2) 78 Raa-fagm T wedt w1 R fa9m g
(3) Ta YA - T e qreTT et 1 qUd T
(4) 79 RaE-fagm T e el & R 99 7

16. fFrafafed § @ =0 @ fagm 7@ WA - fagm & gora €2
(1) <fo" sTwme  (2) HoeRd ded  (3) T S Gaiadl (4)  SLUd. &

17. SIS ShIfHT HefwT 3G IFeS 1 § 2
2 fed T Fe B T H
(a) W& SHE | sy g &t T
(b) T SHE H HH T HI TA
(c) T 1 IUER AT YHATH 1 A Fehell T |
(d) TR - THTHE st HiehA ST ¥ Frwifed i S 2 |
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oors
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18. By and large, which of the following were the characteristic features of Neanderthal man :

(@) The Neanderthal had very large brains, averaging about 1450 cc.

(b)  Acheulian Culture was associated with Neanderthals.

(c) Back of the skull of Neanderthals was rather puffed out, a feature called an “Occipital

bun”.

(d) Neanderthals tended to have large brow ridges that formed double arches.

Codes :

1) @), ©and(@ (2 @ G)and(d @) (b) (and(d) @) (a), (b)and (©)
19. Which of the following are the features of mendelian traits ?

Use the code given below :

(a) Influenced by one gene

(b) Influenced by more than one gene

(c)  Expression not usually influenced by environment

(d) Distribution of phenotypes is continuous

Codes :

1) @ad@© () Gandd)  (3) (@) ©and(d) @) (a)and (d
20. The preconditions for Hardy - Weinberg equilibrium are :

(a) Large population (b) Mating is non random

(c) No mutation (d) No gene flow

Codes :

(1) (), (b), (c) and (d) (2) (b}, () and (d)

(3) (), (b) and (0 (4) (), (b) and (d)
21. The characteristic features of Cri-du-chat syndrome are :

(a) Itis due to slight deletion of short arm of chromosome number 5.

(b) The newborn cries like mewing of a cat.

(c) This syndrome is very common.

(d) Small head, widely spaced eyes, moon - like face.

Codes :

(1) (), (Band(d) 2 @ @and(d) @) (b)(©and(d) 4 (a), (b)and (©)
oors [ [N
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18. TR IR R frareiad qHa &1 frefafed § 9 wF-91 fagva of .
(a) THaveto we @ ufidss FTEt o2 @ o, Sede 1450 .
(b)  STIeit HERfd Faretad AHe 9 et off |
(c) Tt AFa &t QiU & 999 97 § $3 IR o1 54 ' sigehararss @1’ (sTietaaged
o) foreren et T § |
(d) TToetud Oa & 9< Y Fesh (S R) Bid & FS99 e =9 &1 S 9|
e :
1) @) ©3INE@ (2 (@, O)ARE @) (®), ARG @) () (b) iR ()

19. frfafes § @ w9 Aty fosmand €2
ﬁ@@%wwaﬁﬁ?
(a) T S g gHIfed |
(b) T stferew S R guiferd |
(c) srfyeafad HMMIQ: STdERor g guiferd =& 2l |
(d) THALTT (HeTEY) T faawr gad 2§

1) (@) &R (o) (2)  (b) AR (d) B) @ @I @) (@) M)

20. et - et HqE A gH v E
(a)

a) IS TAEE (b) T G eE® BT
(c) Scaftedd (FEeH) &l Bl (d) ¥ yaTe TE g
e :

(1) (@), (), () W (d) (2)  (b), () ¥R (d)

(3) (a), (b) 3R (0) 4) (), (b) 3R (d)

21. W% - g - =< fagm % faftre @aw frafafea 4 @ a9 @ §2

(a) I8 U1 g TE&AT 5 k1 B o1g % Fooh faeild & FHRT 21 ¢ |

(b) TESa Te foeet & fAfiam & a@ & I 2l

(c) % fagm aga oW B

d) B R, I helt g2 1@, T =)

e :

1) @ OFIR 2 @ QIR @) ®), ARG @) (@) b) iR ()
o-o7ss [ EHNMIAINANI ;




22.  Who among the following are Unilinear Evolutionists ?
(@) J. F. McLennan (b) J. G. Frazer (c) Edmund Leach (d) James Clifford

Codes :
(1) (a), (b), (c) and (d) are correct (2) (a), (b) and (c) are correct
(3) (b), (c) and (d) are correct (4) (a) and (b) are correct

23.  Which of the following are related with the School of Diffusionism ?

(a) Pan - Egyptology (b)  Kulturkreis
(c) Culture Area Approach (d) Culture Pattern
Codes :

(1) (a), (b), (c) and (d) are correct (2) Only (a), (b) and (c) are correct
(3)  Only (b), (c) and (d) are correct (4) Only (a), (b) and (d) are correct

24.  Which of the following are not the books of A. R. Radcliffe Brown ?
(a) Coral Gardens and their Magic (b) The Theory of Social Structure

(c) People of Alor (d) Structure and Function in Primitive Society
Codes :

(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct

(3) (a), (c) and (d) are correct (4) (a) and (d) are correct

25.  Which of the following are tribal/rural developmental programmes/plans/schemes ?
(a) Large Scale Agriculture Multipurpose Societies (LAMPS)
(b) Modified Area Development Approach (MADA)
(c) Terrorist and Disruptive Activities (Prevention) Act (TADA)
(d) Training of Rural Youth for Self - Employment (TRYSEM)

Codes :
(1) (@), (b), (c) and (d) are correct (2) (a), (b) and (c) are correct
(3) (b), (c) and (d) are correct (4) (a), (b) and (d) are correct

26. Which of the following terms have been given by M.N. Srinivas ?

(a) Sanskritization (b) Dominant Caste
(c)  Culture of Poverty (d) Polyandry
Codes :
(1) ( ), (b), (c ) and (d) are correct (2) (b), (c) and (d) are correct
(3) (a) and (b) are correct (4) (c) and (d) are correct
parts IHI (VAR ; Papeca




22. fr=fafge § 9 <F wwEs fasmaR: € 2
(a) SL.TE HFRHAE (b)) SN BER (c) TUeHE &= d) <= TR
jij@W@W% @)@@ﬁ ) Wl T
(3)  (b), () R (d) W &1 4) (a) ¥R W%
23, frfafed # @ ®F yoRad @a ¥ defya 82
(@) U - Tt (b) FACTRIS
(c) WiEpfae &l SurTH (d) H=pfa ghwE
%< :
1) (@), (), () 3R (d) & & 2) faF (@), (b) 3R (o) T &
3) T (b), () 3R (d) ¥ € 4) T (a), (b) R (d) ¥ €
24, frefafed § @ ®0 9 756 TR, Yefas aea g Wod 1@ § 2
(a) R TETH T 3N HASH (b) T AN TR N FFR
(c) e 31 TeR (d) TR e HRE 31 Hifafea dame
g&a@ﬁ@W% @ () (o) 3 (d) T ¥
3) (a), () 3R (d) TE 1 (4) a)3:ﬁ'{ a%“f%ﬂ
25. frefafed & @ S5 S/ o fasE wEsal/demd /@y € 2
(a) I8d Y SgeYd FEmEel (T, UH.9.TH. )
(b) afRafda &= o gfeenm (WU EiT,)
(0) oTawaTR iR faeams wafaty (friw) sfafem (e
(d) TRISR & e aretor Faned 1 yfereror (2Eem)
?f | @), (b), (c) R (d) T ¥ 2) (), (b c) W&t T |
(3)  (b), (c) 3R (d) T T 4) (a), (b d) 9t 2|
26. fr=fafead § @ &9 @1 98 Ta.wA. difam 3 fen g2
(a) EERATH (b) g A (c) TSl 1 WE&pfd  (d) g gcil-ufd faemg
%< :
(1) (@), (b), () ¥R (d) & €1 2  (b), () 3R (d) T T
3) (a) 3R (b) TE ¥ (4) (o) 3R (d) T )
o-o7s [N ;




27. Select the correct statements for methods applied in Archaeological excavation. Use Codes.
(a) Trial trench is not a part of excavation.
(b) Datum line is necessary in excavation.
(c) Balk is left in excavated trenches.
(d) Only vertical excavation is sufficient for settlement sites.
Codes :
(1) (a) is correct, (b) is wrong (2)  (d) is correct, (c) is wrong
(3) (b) is correct, (c) is correct (4) (b) is wrong, (c) is wrong
28. Find out the correct features of Iron age in India from the following. Use codes :
(a) Iron mines of Singhbhum led to the development of Mauryan empire.
(b) Iron technology is linked with growth of urbanization in Ganga valley.
(c) Iron technology did not bring significant change in economy.
(d) Steel was used in PGW culture.
Codes :
(1) (a) and (b) are correct (2) (a), (b) and (d) are correct
(3) (a), (b) and (c) are correct (4) (c) and (d) are correct
29. Select the correct reasons for excavation of prehistoric sites. Use codes :
(a) Discovery of treasures of the past
(b) Systematic study of the past
() Meticulous analysis of the cultural remains of the past
(d) Exercise of creative imagination for the past
Codes :
(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a) and (d) are correct (4) (d) and (c) are correct
oams [ || MALR AR 10 papeca




27. U@ @ H Y Ugiadl o foau @@ sifered w1 = w0 e U 7T el 1 T w3
T I H =TT Hi |
(a) A $F S H U TE B B
(b) STH ATEA ST H SAAIF ¢ |
() @ fou U E<=i # He IS foa s 7
(d) FHEE e % fau SHad e e & JaTd 2l & |
%<
1) (a) W T, (b) T 2| 2) (d) ¥ E, (c) To@ B
(3) (b) WEIE, () TR B (4) (b) T ¥, (c) A ¥
28. freAfafed § & yra ¥ @e g % W& favmaredi st weam w1 9 feu T e w1 ST w3 g
TE IR HT 7T FL |
(a) THEYw & g TeHl | A WU 1 faerd ot |
(b) e Srenfirnt 1 et T S W Srediehior & faea @ ¥
(c) g Wrenfitent ¥ sreferazen § #IE Aecqut Ufed &l 1|
(d) T H ITAR 9SS, FEpia H BT o |
%<
1) (a) 3R (b) TE 1 2)  (a), (b) 3R (d) T T
3) (a), (b) & (c) T T @) (o) 3R (d) w1
29. YTifqeTiaes Toell & 3@ & fIT W& FRUI 1 = R A I T T ITER A g A
ERMCIRCREIETY
(a) formd & @em &t @
(b)  YdehTA 1 HAEd HALHIA
(c) YT o HIEHidh TRl 1 G&H fageiwor |
(d) YdeTA o GSHAHE a1 TA |
e :
(1) (a) 3R (b) T 1 2)  (b) 3R (c) =& T
(a) SR (d) WT 2| (4) (d) 3R (o) W&t T
o7t HIH\INI\ IMIHIHHIIIIIHHIHII\II\I\I\II||\ i —_—




30. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) : Human variation in skin colour is due to differential density of melanin in

the epidermal layers.

Reason (R) : All humans have the same number of melanocytes, but the activity of these

cells is related to adaptations to UV light stress.

In the context of the above two statements which one of the following is correct ?

1
2
3
(

)
)
)
4)

(A) is true and (R) is false.

(A) is false and (R) is true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Both (A) and (R) are true, and (R) is the correct explanation of (A).

31. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Disease may play an important role in human evolution. Some populations

have higher allele frequencies for certain genetic disorders and so may be
more susceptible to those disorders.

Reason (R) : Human cultural modification of the environment can alter the patterns and

contexts of natural selection through disease patterns.

In the context of the above two statements which one of the following is correct ?

(1
(2
(3
4

(A) is true and (R) is false.

(A) is false and (R) is true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Both (A) and (R) are true, and (R) is the correct explanation of (A).

32. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Any aspect of biology or behaviour that confers some advantage on an

organism or population can be considered an adaptation

Reason (R) : Cultural adaptations include technological devices such as clothing, shelter

and methods of food production.

In the context of the above two statements which one of the following is correct ?

(1

)
()
()
(4)

D-0715 |”||H||”H

(A) is true and (R) is false.

(A) is false and (R) is true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Both (A) and (R) are true, and (R) is the correct explanation of (A).
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30.

31.

32.

= fou T S werl B U T IR (A) U1 THU 9k (R) T

ARIRIT (A) : T @1 o T H Fa=1a1 Tiretea W § JaHE & o 3 f9=7a1 & SR gidl
T

e (R) : et gal H HeHTEey ®i S GHH Tl § Tfohd S HITeRIsT & R
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Biological adaptations can be genetic in nature.

Reason (R) : The dark skin colour of many human populations inhabiting near the equator
is an example of genetic adaption.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false.

3

)

(2) (A) is false and (R) is true.
) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
)

4) Both (A) and (R) are true, and (R) is the correct explanation of (A).

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : HLA system is a class of blood group markers formed by proteins expressed
on the surface of white blood cells.

Reason (R) : The HLA system is critical in matching donors and hosts for organ and skin
transplantations.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A) is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Modern human diets are complex and are strongly influenced by culture.

Reason (R) : Social and economic differences, both among and within populations lead
to dramatic differences in dietary patterns.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A)is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A) is true and (R) is also true.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : With proper genetic counselling, the appearance of serious, sometimes fatal,
diseases can be avoided.

Reason (R) : Prenatal diagnosis employs a variety of techniques to determine the health
and condition of an unborn fetus. Such information can guide the family
in reproductive decision - making.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false.

(2) (A) is false and (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are true, and (R) is the correct explanation of (A).

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Observation is examination of phenomena without altering them.

Reason (R) : Therefore, anthropologists consider observation technique of data collection
as ‘Culture - bound” and most subjective.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.
(3) (A) is false and (R) is also false. (4) (A) is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The protagonists of diffusionism assert that “Man is uninventive by nature”.

Reason (R) : Therefore, they said that there has been independent and parallel growth
of culture.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A)is false and (R) is true.
(3) (A)is false and (R) is also false. (4) (A) is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : According to A. R. Radcliffe - Brown, “Social - structure is the study of
arrangement of personnel in the society”.

Reason (R) : And, social - organisation is the study of arrangement of the activities of
those persons.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.
(3) (A)is false and (R) is also false. (4) (A) is true and (R) is also true.

AR 1




36.

37.

38.

39.

= feu T S weel § W U FURA (A) T T ek (R) B

AURIT (A) :  TYFaa TR wRget § TeefR iR Fwefi-aeft ek sl | o= <71 Hehell

e (R) : yHayd oM # fafv= qarisnl 1 SUENT STo U % TEred iR fefa @ gan
T % fore fohan S § 1 39 TR &1 TRl g et fof o 8§ afar &
T Yeu Y Thd ¥ |

STfF S el o Ge | = T i 91 ST a2

1) (A)H & T, T (R) Tod g

(2) (A)7EE T W (R) T

(3) (A) 3R (R) T T ¥, W (R), (A) FI T&l AT Tel Hdl T
(4)  (A) ¥R (R) I F T, 3R (R), (A) FT FE ATEAT R T

= feu T < werl B ¥ uw tfueRed (A) 3R T Ak (R) R

APURAT (A) : AR w21 | for 1 aIgema fore SHeht wdemn 7 |

T (R) : A, OFa - foaMl oTihe TUBY i STacilh doh-is & ‘TEhfd-ag' 3K
aifesh STTcHae A 2 |

STdE SHl Al o Hed § A fea T e o S wE § 2

1) (A) ¥ IR (R) Tod B 2) (A) 7T € IR (R) ¥&l T

(3) (A) e ¥ 3R (R) ot TTerd 7 (4) (A) T & IR (R) off W&l T

= feu 7T § Swa H ¥ TF AR (A) IR T T (R) T

AURAT (A) :  TIRAE & Yodsh iR <d & foh O Tma @ & s1-enfashnas &'
qd (R) : TAfAT, Seh1 WA o1 T Gehfa o1 T s o TaH=R faem gan 2 |
ST I STl & ged H i ° T G T 2

1) (A) ¥ AR (R) Tod B 2) (A)7TEd © 3R (R) L& 7|

(3) (A) 7T € 3R (R) ft e R (4) (A) W& T R (R) o W R

T 3 For fed T ¥ 9E @ s tfueRed (A) iR T 9k (R) 1

AMURAT (A) : TR EfH® - 937 & IER ‘g = 9o § =afel & s
S T AT TN

e (R) : 3R, Gt WS 39 AfHal & fharhaTdl & Faiel T 7497 B |

STE 1 el o deof H freAifRa 8 @ e W W B 2

1) (A) ¥ IR (R) Tod B (2) (A)TEd € 3R (R) T 7|

(3) (A) 7T § 3R (R) oft e R (4) (A) W& T R (R) o W R

o-ors [ IHHNE A 1



40.

41.

42.

43.

oars [

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The concept of Folk - urban continuum developed in the study of Peasants
of Mexico.

Reason (R) : The study was taken up by David Mandelbaum.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A) is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Torres Strait Expedition carried out in 1898 - 99 is considered as the first
organized fieldwork in the world.

Reason (R) : This expedition was organized by the University of Oxford.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A) is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : National character studies became prominent during the Second World War
because each of the warring nations tried to know the National Character
of its enemy nation.

Reason (R) : This gave rise to a new research methodology in anthropology called ‘Study
of Culture at a Distance’.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.
(3) (A) is false and (R) is also false. (4) (A) is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Charles Darwin proved the theory of evolution in life sciences. His theory
was initially influenced by the 18t and 19th century social scientists.

Reason (R) : In his Origin of Species Darwin acknowledges his debt to economist Thomas
Malthus and sociologist Herbert Spencer.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A) is false and (R) is true.
(3) (A)is false and (R) is also false. (4) (A) is true and (R) is also true.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Domesticated cereals are mutants in nature.

Reason (R) : Man cultivated them.

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A)is false and (R) is true.

(3) (A) is false and (R) is also false. (4) (A) is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Domestication of fire enabled prehistoric men to live in the cave.
Reason (R) : Fire made food more edible

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false.

(2) (A) is false and (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(4)

Both (A) and (R) are true, and (R) is the correct explanation of (A).

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : A Menhir is a megalith

Reason (R) : It is always raised over a burial

In the context of the above two statements which one of the following is correct ?
(1) (A)is true and (R) is false. (2) (A)is false and (R) is true.

(3) (A) is false and (R) is also false. (4) (A) is true and (R) is also true.

Arrange the following books in order in which they appeared. Use the code given below :
(a) The Genetics of Human Populations - Cavalli - Sforza and Bodmer

(b) Population Genetics - C.C.L.

() Human Genetics, Problems and Approaches - Vogel and Motulsky

(d) Introduction to Population Genetics Theory - Crow and Kimura

Codes :
1) @, () () (d 2) (d) (@ (b) (@ @) ({)(d) @ ( @ () (@), (d), (b)

(b), (c), (
LR :
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48. Identify the correct sequence of development stages of human haemoglobin. Use the code

given below :

(a) Portland (b) Gower () Adult (d) Fetal

Codes :

1) (b), @), (d), () (2) (@), (b)) (d) @) (o) (d) (b) (@ @) (d) () (a) (b)
49. Arrange the following blood group systems in order in which they were discovered. Use the

code given below :

(a) ABO (b) Rh (c) MN (d) Lewis

Codes :

1) (®), (), (@ @) () © k)@ @) (© @ (@ O @ @@ ®)/(d
50. Arrange the following concepts in which they appeared. Use the code given below :

(a) Selection intensity (b)  Coefficient of Inbreeding

(c) Hardy - Weinberg Equilibrium  (d) Mahalanobis distance

Codes :

1) (), (d), (@ @ (2 (d), (@ @, ® @ (©®), @ @ @ @)/, ®), (d
51. Identify the correct chronological sequence of stages of human evolution :

(1) Neanderthal man - Australopithecus - Cro-Magnon - Homo erectus

(2)  Australopithecus - Homo erectus - Neanderthal man - Cro-Magnon

(3) Cro-Magnon - Neanderthal man - Homo erectus - Australopithecus

(4) Australopithecus - Cro-Magnon - Homo erectus - Neanderthal man
52. Arrange the following books in sequence from the dates of their publications :

(a) Origin of Species

(b) Ancient Law

(c) Keep Your Powder dry : An Anthropologist Looks at America

(d) A Scientific Theory of Culture

Codes :

(1) (a), (c), (b) and (d) are correct (2) (a), (b), (c) and (d) are correct

(3) (b), (c), (d) and (a) are correct (4) (c), (d), (b) and (a) are correct
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53. Identify the correct sequence in the period of pathogenesis :
(a) Death (b) Illness
(c) No specific signs and symptoms (d) Permanent damage

Codes :
1 @, b)© (d 2 @)@ b, @ @ (b)) (@ @ (b)@), ) (@

54. Identify the correct sequence of Evans - Pritchard’s work in ascending chronology. Use the
code given below :

(a)  Witchcraft, Oracles and Magic among the Azande
(b) The Nuer

() The Sanusi of Cyrenaica

(d) Theories of Primitive Religion

Codes :

D @ ®),© @ 2 (@) (© k) @@ @) @ @) ()b @) © ®) @ @

55. Identify the correct chronological sequence of the following as per their formation as State :
(1) Telangana — Uttaranchal — Jharkhand — Chattisgarh
(2) Chattisgarh — Uttaranchal — Jharkhand — Telangana
(3) Jharkhand — Telangana — Uttaranchal — Chattisgarh
(4)

Uttaranchal — Telangana — Jharkhand — Chattisgarh

56. Arrange the following in sequence of their population from the smallest to the largest :
(1) Birhor - Buksa — Onge — Santhal
(2) Onge — Birhor — Buksa — Santhal
(3) Buksa — Santhal — Onge — Birhor
(4) Santhal - Buksa — Onge — Birhor

57. Arrange the following method of food getting in sequence of their appearance in prehistoric
times :

(1) foraging — gathering — hunting — herding
(2) herding — foraging — hunting — gathering
(3) hunting — herding — gathering — foraging
(4)

gathering — hunting — foraging — herding
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e :
MO @, b)@© (d @) (@@ b, @ @ (@, (), () b @ (© b)) @) ()

55. TrAfafed & & @& %8 9 & T8 Tl &l TaH T4 T°F Ted & T<d H A ¢

(1) AT - STAA — ARGE — BAHG

(2) BUHTE - ITFA — TGS — dTH
(3) FREE - dATH - IWFA — DAIG
(4) STHA - TATH > HARES — BAEG

56. freAfafEd #1 TR STHEEN & STUR | B ¥ TSI A F1 TE HT F1 7 ?
(1) ToRR - g1 - 31 - Fum

2) M — fo@R - g1 - Hare
(3) FH - FUEA — A — @R
(4) HATA — TR — 3T — fT@R

57. UMfaeifass i # 37 Yohe 8 & A U YN I w3 &1 fefafed ggfadl = 98 w9 o
Haferd & |

(1) =R H G — THAR - RIER 311 — e

(2) TYUEH — TR FH QIS — RHER FET - TR

(3) TR & - TYAE — THAH — IR HT @S

(4) THAH — FTRR HE - IR 6T G — I

o-ors [ IHHNE A s



58. Arrange the following sites in proper sequence of cultures they yielded from early to later :
(1) Renigunta - Langhnaj - Inamgaon — Pallavaram

2) Inamgaon — Pallavaram — Langhnaj — Renigunta

(2)
(3) Pallavaram — Renigunta — Langhnaj — Inamgaon
(4)

Langhnaj — Inamgaon — Renigunta — Pallavaram

59. Match an item in List - I with an item in List - II. Use the codes given below :

List - I List - II
(a) Howler monkey (i) South America
(b) Chimpanzee (i) Madagascar
(c) Lemurs (iii) India
(d) Langur (iv) Africa
Codes

@@ (b) (9 (d)
M @® (@) @) ()
) @) @O @@ )
G) @O G @) @)
4) (v) (D) @) ()

60. Match an item in List - I with an item in List - II. Use the codes given below :

List - I List - II
(a) Polyploidy (i) An extra chromosome or a missing chromosome
(b) Aneuploidy (ii) Extra chromosome sets
() Translocation (iii) Part of chromosome present twice
(d) Duplication (iv) Two chromosomes join long arms or exchange parts

Codes :
@ () (@ (@

M @ 6@ G
@ @ O @
@ G @ O @
@ O v @) G
oars [ [TV 2




58. Trefafed e &1 95l € TE TR & GeH STER IR ¥ 918 & HH | Fafed Fi|

(1)  TR[=T — TS — T — Teeiaid

SIS —> TEEaXH —> TSI —> T

)
(3) UTERH — ARl — AT — EEIIE
)

SATETST —> TS —> AT — TeeTeRy

59. = fSU MU Fe w1 ST FA G G - 1 H T A H G - 11 F A § gafed wifee |

T -1 Tl - 11
(a) ESe Henl (i) HSY TR
(b) et (ii) HSTTEHRR
(c) wd (iii) sfeat
(d) @| (iv) ST
< :

@@ (b)) (o (d)
@)  Gv) (i) (i)

)
() @) @O @ @)
G @ @ @G (@)
4) (v) @) @) (@

60. T ST 7T Fel 1 ST hxd L G - [ FT 7S &l Gt - 11 FT 78 § GAfad it
T -1 Tt - 11

(a) feTdTeEEl () U eAfdfea o st U ofw o

(b) TI=AEE (i)  STfafa TR HE

(c) ZHATHY (i) SYTEerd SR UGS 1 AT

d) TwArhIE (iv) < TORLE T el dTRl 1 S[EAT 1S TN T SARH-USH
< :

@@ (b)) (o (d)

) () (@) (D) ()
) () @ (v) (i)
() @) (@) @ ()
) (1) (dv) (i) (i)

(
AL
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61. Match the following List - I with List - II. Use the codes given below :
List - I List - II
(@) Amish (i) Tay-Sachs disease
(b) Ashkenazi Jews (i) Albinism
(c) Hopi and San Blas Indians (iii) G-6-PD deficiency
(d) Mediterraneans (iv) Ellis-Van-Creveld Syndrome
Codes :
(@ (b) (o) (d)
O @ O )
@ Gv) O @) )
@) O () @) @)
@) @ @) @) o
62. Match the following List - I with List - II. Use the codes given below :
List - I List - II
(a) Organism’s biological changes in later adulthood (i) Aging
(b) A phenotypic changes, such as an increase in height,  (ii) Senescence
due to multiple factors
(c) The process of maturation (iif) Homeostasis
(d) The maintenance of the internal environment of an (iv) Secular trend
organism
Codes :
@@ (b) (9 (d)
O ) @ 0 G
@ O @ @) @)
@) () @) O ()
@) (W O @
63. Match the following List - I with List - II. Use the codes given below :
List - I List - II
(a) Congenital malformation (i) Kuru
(b) Cultural practice (i) Asthma
() Acquired disease (iii) Goitre
(d) Nutritional disease (iv) Cleft lip/palate
Codes :
(@ (b) (9 (d)
O G @) ) 0
@ ) O @ )
() <i> <ﬁ> <iii> (iv)
4) (@{v) (iii)
s | HII! \I!I\HI 2 —




61. i fSU 7T FH2 1 STAN FId g, Gt - 1 1 A - 11 % |1 GHferd HI
el -1 Tt - 11
(a) TfEw () o - gred fesls
(b) TSI AGT (SI) (i) TAfdrT
(c) Bl iR &9 s dfeam (i) S-6- WE-SRRRTC (FH)
d) Hfef=a (iv) Tfag-sH-shiaee famgm
e :
@@ (b) (o) (d)
1 G @ @) (v
() @v) @@ @) (i)
@) @ (@) @) (i)
4) @) () @v) @
62. = fouw 7T 2 1 IWHN FA Y, G - [ BT et - 11 % w1 gaferd sifag :
et -1 et - 11
(a) TS SR H Sfaw IgaE () e (TfST)
(b) TH FFa&d sgamE, 9 faf= (i) wfeamE (fare4)
TTH F HRO A gieg B
(c) URY=A M &I Uik (iii) SR fEw
(d) T S & TR [EY H WEE (iv) IHR IT
e :
(@ (b) () (d)
1) @v) (@) (@) (i)
2 @ (@) @D (i)
@) @) (@v) (@) (i)
(4) @) @@ @) ()
63. o ST 7T el 1 STAR Fd g G - 1 oh W FAt - [ 1 Hferd Hife |
et - 1 et - 11
(@) wT fagfd @ F¥
(b) HIEHfdsk ger (i)  3TEHl
(c) TifSta T[T (iii) TR
(d) iR (iv) Fe fad/dee
e :
@@ (b) (o (d)
1) G () @) ()
) @v) @@ @) (i)
) (i) (ﬁ) (iii) (iV)
4) (iii)
o7t HIH\I“II\ I 2
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64. Match an item in List - I with an item in List - II. Use the codes given below :

List - I List - II
(a) Ancient Law (i) J.G. Frazer
(b) The Science of Culture (i) H.J.S. Maine
(c) System of Consanguinity and Affinity of Human Family (iii) Leslie A. White
(d) Golden Bough (iv) L.H. Morgan
Codes :

@@ (b) (o) (d)
1) @) @ @) (i)
(2) @ @) @) @
¢ @ @) 3§) (iv)
) @(v) @) @ ()

65. Match an item in List - I with an item in List - II. Use the codes given below :
List - I List - II

(a) Personality test which involves the evaluation of a (i) Rorschach Test
subject’s response to ambiguous ink blot.

(b) A relationship or correlation between two or more (i) Statistical Significant
variables that is unlikely to be due to chance Result

(c) A result that would occur very rarely by chance. The (iii) Statistical Association
result (and stronger ones) would occur fewer than

5 times out of 100 by chance.

(d) Using a set of drawings that depict ambiguous life (iv) Thematic
situations; subjects are asked to say what is happening Apperception Test
in the pictures (T.A.T)

Codes :

@@ (b) (9 (d)

O O 6@ @
@ G G 6@ @)
® v @) @ 0
@ @) @ @ 0
oams [ || MALR AR 50




64. FEIT - 1 q2ai &l Geit - [1 § GAfAd w1 RIS 1 JI0 HL |

el - 1 T - 11
(a) TfETe (i) S TR
(b) T WEH Ah Hea (i) TE. ST
(c) Tow=u A% HEJUHS TS TR TF gHT HiHa! (ili) A T FES
(d) Tieed 9= (iv) T.TE. |
e :
(@ (b) (o) (d)
1) @) @ Gv) (i)
2) @) () @v) ()
G) @) (@) (@) (iv)
4) Gv) (@) @ @)
65. Gt - 1H 3 T A I Gt - I H < T A7 | gAfad wifee
et -1 T - 11
(a) Al Ther fored srere wfiasd (3% saR) & ufd (i) A =
e w1 SRR 1 eish WA T
(b) < e = (SREea) S danTe™ g (i) Tfefewa fafufree
AT T €, o o Ty el He-Hrey | LS

(c) TRom St HewTer fagen € g | aRom (SR yea| (i) Vfefesa wafagm
IRUM) 100§ ¥ 5 9% ¥ &H & AT R ARSI &1 |

() T e e, o e e R s Ty e T
&, 1 S R AfH @ wt o § & s ¥ @ wi R =

@@ (b) (9 (d)
®m @O @ @ )
2 @O @) @ @)
(3) (v) (D) @) @)

)

(4 iif) (il

(
oars

) )

)
0
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66. Match the following List - I with List - IIL.
List - I List - II
(a) Correlation (i) Measure of central tendency
(b) t-test (i) Measure of dispersion
(c) Median (iii) Difference between means
(d) Standard deviation (iv) Relationship between two variables
Codes :
@@ () (o (d)
W v @ 0 G
@ O @ @) @)
@) (v) @) @ @
@) G O @) @
67. Match the following List - I with List - II. Use the codes given below :
List - I List - II
(a) A Philosophy for NEFA (i) N.K. Bose
(b) Canons of Orissan Architecture (ii) Verrier Elwin
(c) Caste and Race in India (iii) M.N. Srinivas
(d) The Remembered Village (iv) G.S. Ghurye
Codes :
@@ () (o (d)
M) W) @ @ 0
@) ) @ @ @)
@) () O @) ()
@) v @) 0 @
68. Match the following List - I with List - II. Use the Codes given below :
List - I List - II
(a) Chi - Square (i)  Average
(b) Coefficient of variation (ii) Absolute measure of variation
() Mean (i) Relative measure of variation
(d) Standard deviation (iv) Test of significance
Codes :
@@ () (o (d)
O O @ @)
@ Gv) @) @) )
@) ) O )
@) (v) ) @ 0
oars [ LA .
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66. Gt - 1Y et - 11 I GAferd | HIS HT FAN HL

Tt - 1 T - 11
(a) TER ey (i)  hETd IO A
(b) F-2w (i) faror 1 A
(c) WAy (ili) STEdl o o H AW
d) e fo=ed (iv) <= F o= w1 ey
b (@ () (9 (d)
1) Gv) (@) @ (i)
@ @O @) @) (@Gv)
®) (v) (@) @) @
4) @v) (1) @) (i)
67. TET - 1! et - [1 § Gaferd w1 HIS & FIT HL |
Tl - 1 Tl - 11
(a) T fweATH®! ®BR T () TAH. 99
(b) T 3T ISEA SATfcheaFr (i) SRR Tl
(c) e TS W = sfea (i) TA. TH. FifE™
@) T o= faes (iv) S.TE. T
h @@ () (9 (9
1) @) @) @) ()
(2) @) @) @ (@)
@) @) @@ @v) (i)
4) (v) @) @ ()
68. Tt - I %! Geit - 11 ¥ Faferd &1 HIS 1 TI0 & |
Tt - 1 T - 11
(a) HE-THaA () TS
(b) HI-3RRMEe &17F aRTEH (i) TIHE AR 3 ARTIH
(c) ¥ (i) Teifea =R &% aRwE
d) e fefomm (v fa=em) (iv) R A% fafafrhg
i @@ () (9 (9
®H @ @) 3§D ()
()  Gv) (@) @ (i)
®) ( @ () (ii)
4) (@(dv) (@Gi) (@) (@)
oons [ IHEALAN .
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69. Match the following List - I with List - II. Use the codes given below :
List - I List - II

(Site name) (Culture type)

(a) Gufrakal (i) Harappan
(b)  Kotdiji (i) Mesolithic
(c) Tinneveli (iliy Pre - Harappan
(d) Surkotada (iv) Neolithic
Codes :

@ () ()
O @ @) ([ ()
(2) (v) @) G @
@) (@) @Gv) @) ()
@ G @ (@v) (i)

70. Match the following List - I with List - II. Use the codes given below :

List - I List - II
(Site name) (Site environment type)
(a) Bagor @) Coastal
(b) Adamgarh (i) River valley
(c) Sarai Nahar Rai (i) Desert sand dune
(d) Tinnevelli (iv) Rock shelter
Codes
@ () () (d
@O O @) 3G ()
(2) (@) @ (@v) (i)
(@) (@) (@v) @G) (@)
(4) (v) (D) @) (i)
oons [ [N y




69. EIT - 1! et - [1 § gafaa &1 T T T F2i 1 ST I G T IR T 997 Hi |

Tl - 1

(T o )

whiefestt

d) Yl

@@ () (9 (d)
® G () (iv)
(iv) (i
(ii)) (i
(i)

Tl - 11

70. gt - 1 Geit - 11§ gafea w11 A= g T 21 1 ST T gu w8l ST H1 924 F

@ ® © (@
)0 @ @) @)
2) (i) (i) (iv) (i)
3) <m> (iv) (u) ()
4)

(iii) (if)

(

Dars IIH\INH
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Read the following text and choose/pick the correct answer of each of the following
questions : (Q. Nos. 71 to 75)

The term “tribe” is generally used for the Indigenous population of a land. It is also referred
to by different terms in different countries, such as; American Indians in USA, First Nations
in Canada, Nationalists in China, and Adivasi, Vanvasi, Girijan, Adimjati, Janjati, Anusuchit
Janjati (Scheduled Tribe), etc. in India. Besides the above, there are three different concepts
of tribe as well, viz. American concept, British concept, and Indian concept. In American
Anthropology, the term tribe is perceived as a stage in evolutionary sequence, such as, Band,
Tribe, Chiefdom and Kingdom.

After Christopher Columbus discovered the New World in 1492, the scramble for exploring
new lands and people began in Europe. In addition to the Portuguese, Spanish, Dutch and
Norwegians, the British were one of the most prominent explorers. They entered into the
interiors of the Dark Continent of Africa, and also discovered Australia, New Zealand,
Tasmania, and hundreds of islands in the Pacific; and thus, established the biggest empire in
the world. In so doing, they encountered the indigenous populations of all the newly
discovered land and its people. The culture of such indigenous people was in contrast of the
British or the Victorian culture. Such people were first called by the British as ‘savage’, and
thereafter, by “tribe’.

The British also established their colony in India and ruled over the entire subcontinent that
had enormous variety of cultures and traditions. Those people, who lived in comparative
geographical and social isolation, such as in hills and forests, were referred to as ‘tribes” by
them. In fact, the British equated such populations of India with the indigenous people of
the newly discovered lands.

In India, there is yet another category of tribes called Scheduled Tribes. Scheduled Tribes are
those socially, economically, and technologically disadvantaged groups, who, by order of
the President of the Republic of India, are listed in this category. Because of constitutional
privileges and safeguards granted to the scheduled tribes in India, there is fierce political
competition and rivalry among different backward and disadvantaged groups for inclusion
in the category of Scheduled Tribes. This has greatly affected the socio-political scenario of
the country.

71. What has greatly affected the socio-political scenario of the country ?
(I) Scramble for exploring new lands and people by Europeans.
(2) Constitutional privileges and safeguards granted to the scheduled tribes in the country.
(3) Discovery of the New World by Christopher Columbus in 1492.
British Rule in entire Indian sub-continent.
s IHII\||||!H|||!II!IH||||H|H|\|H||\|“H|||\|!|\|\||H|| s papera



71.

gl feu T IFAUT T U qAT Tk MR W F=fefEa warent & q& Swv W e @ |
(9d. 71-75)

‘2Ted’ I WM AR W Rt &3 St QU STeTel & fere wan fohen s ©1 fafy= < § 59 % fag
T VK] a1 AfeafeEl w1 off T foRa S €, 59 eTfReR # smfent sfea, we § W
9, I § AIAfES a9 IRA ¥ eTfcars, avard!, FisE, snfen sifa, st stIgfea S
amfe | 3k STl 2rRd ¥ Hafud i iR emond off § - sARet stawmon, fafewr saumom, iR
IR TR | STHIRT 7a foaa™ § 2T8a 1 ST © T o % § T s staen, 59 9,
22, TSR YT T SHIXT |

1492 H fHFEIR Ficierd, FRI T2 g1 1 Tiel & o1 U9 | T SATh! 901 I&l st 78 STafeai i
T & U 2e 79 g | qamierd, T, €9l a1 A6 o Al o ST fafew ft 39w s
T god Y@ 9| 3 SAUHERY THIH! Helgd & il fewdl 7 =1 w5 iR S=i sreferan, el
TEIFTT T Y9N & o Hehel gl sl WIel & | 3R 39 @&, a1 H Tad g Wy wnfya fhan |
39 Ufha H 3 39 qHM 9 STeedl & "ok § S, S U gt 3R ael S STeet bl S g6
TeRTet o | 39 o STanfedl st Gepia fafew a1 faseifen dpfa 9 faoga oam of | 3=H T
T o Teed T (ForsT) SR TR e | Srsiiaal (28) e o Gaied foha |

fofest @M 3 wRa # off 3191 3uferr Tefyq foran ofR @1 39 QX SUHERd W I foRa S
o= TR 1 Tepfaal aon Wil | ot g2 off | 9%l 3= S ARl STefea i S/ gred el
S ST A1 RISl S STHEIHd STe- Ul U STkl B el off | araa # fafew @i A 3% AU @
T & T SIS STETET o TG HH |

9 H 2Eeq i T AR Joft € Srqgfed Senfd | Srefed SHsita w1 St ¥ 9 Sttt €,
S g, o iR deil w9 H fau= € iR 9= 9aRdg TRew & Ueufd F ey 9
Agfaa 4t H W1 S ¥ 1 ARG H STIgfad Setaal s fie gaenfen fasreiemr qen deaon &t
Tore ¥ Il fafy= fasg qen fau= wugi & <= sTgfad SNt %1 gt UM % forg Tsifas gfaeast
wd gfagfgdr Ter &1 78 § oTR ST H YA ST TE1 g ¥ 1 SHY TN F WISk qeiiash TR
1 TR gofaa foam 21

T F G- TS {dh STdTaRvl 1 fham 7ok &9 9 gonfaa fean €2
(1) I ART R 8 STHE Q1 75 STl ol @S i o forg 7=ft B A |
2) < H TIgfea SHsaa wi S 7T denen foRiieR qen Hee A |
(3) ToREIoR FIaad R 1492 H &l T8 78 g1 &1 @S A |

T WRGTE SuHETe | ferfee wre

HHHIHIIHI\\III\|||M||\|HH|||||H||H||\||\|\|\||||\ .



72.  What was the result of discovery of the New World by Christopher Columbus ?
(1) Constitutional privileges and safeguards were granted to the scheduled tribes in India.
(2) Scramble for exploring new lands and people by Europeans began.
(3) Dark Continent of Africa remained unexplored forever.
(4) The British equated such populations of India with the Indigenous people.
73.  What type of culture did the British explorers find in the newly discovered lands ?
(1) The Indian Culture.
(2) The European culture.
(3)  The culture of the Scheduled Tribes.
(4) Contrast of the British or the Victorian culture.
74. What is the American concept of tribe ?
(1) It is perceived as a stage in evolutionary sequence from tribe to band to chiefdom to
kingdom.
(2) It is perceived in sequence based on their physical stature from Adivasi to Vanvasi to
Girijan to Adimjati.
(3) Itis a concept that denies the existence of First Nations of Canada and Nationalities of
China.
(4) It is exactly the same concept as that of the British.
75. How have the tribesmen lived in India ?
(1) In complete social and geographical isolation from the mainstream population.
(2) In comparative social and geographical isolation, as compared to the indigenous
population of the newly discovered lands by the Europeans
(3) In complete social assimilation with the mainstream population
(4) Practicing agriculture in the plains of Punjab, Haryana and Uttar Pradesh.
-00o0-
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72.

73.

74.

75.

foREIRT Sicierd GRS ST <l @ISl 1 R IIoH gal ?

(1) 9Ra H TIgfad Senfaal w1 Goenfe da qen fagmfanr fou )
(2) IO AR H T AR SR T8 STEnedl w @S i 8IS Y o TE |
(3)  SHYHBIS STHIeh! HETGIY BHIM il TE SIS o1 & |

(4) fofew A 7 9@ &1 TH STEET S S9S STEE] % T @ |

fsrea & @il <l 3 S ¢ 31 @IS, T8l Seid [ e ohi Geehia TTE ?
(1) R Hepfa

(2) T Hepla

(3) STIgfud SIASfdal sl G&Rfd

@) fofew =1 fowiRem dwpfa 9 focga sta @@ &t 9&=hid

)
)

2Eel i STAERT STaYRO 1 § ?
(1) 9% IEA 9 995, I8 § RN, 9ER ¥ TTawd &1 faam™amR! %9 7|
(2) T8 snfcardt ¥ avar ¥ fifem 9 enfersifd & Wi #T & %7 § <@ a1 § |
) I% TH UHT STAYROM T, S FHATST % B A9 3R = 1 ARl ®l AHSR FI T
) % Oi%h ! YN &, S fofewr sraumon 71

3

(4

e § WA § fafi=1 Ssad o @R fhe TR T8 31T § 2

(1) &7 91 & &R § SFifas qen s a)k T I8 8 9 < g

(2) wTIfSTR qeT WRTfeTsh €9 & qerTeTe STerTe- AU S gR1 @iet T T &5 i 91T STae
I AT H |

(3) HEAYNI Wi AR ¥ I T § FedHe |

(4) O, BRATON qeT I YW F HIH! geTeh] H Wt | o gu |
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